SIS 1B S P B Ry
£ LSS

%
g

[ %

(EEFIHE]

1. MEFBOANNEH 2T, ZORBERKEEI LV 2,

2. ZORMERKE, AREK (ZOR—D) 2E5DTIR—VTH 3,
3. BRI, 58 (No.1~No.5) THh 3,

4. MBI, FE1~6 £ ThHD, TNTHEETLZZ L,

5 MR 1 - M 213 TARE M No.1) 12, REE 3 IE MBS AN No.2) 1o, FIEE 413 THRZ AR No.3J
12, I 5 1 [RE M Nodl 12, FIRE 6 13 THZEEME Nob5] ILFNFTNBEERTATE &,

6. RRBZSRUREGIR, TRTCOMERROFERIZBTRATEI L,
7. COMBEARE, MEKRTRCRLR Z &,



No.1
SHAEE Y TERSEMEREXRAZERRFE IRE

[# 2]

M1 ROBWIZER I W, : (& 15 ]
(1) AR 2% 427+ = 80 2/ T z 2 RDB IV, 8 53]
(2) 2/ A(1,3), B(3,—-1) 22T, ##57 ABOBEE_ESROFERNE RO LI W, [7 K]

B2 WMORBWIZE X LI\, (Bt 15 5]
(1) N2 bV, BIzDWT, |3 =4, |b] =3, [—b=VI3DLE, gL b0RTAIOLOS 7)

EROAEI N, [7 &)

1 ab bc ca

|0 1 be a?
OEIE L 2 ERARL AT, 8 &

0 1 ca b

0 1 ab c?
IR S gy =2 - 322+ 212200 T, ROMWIZEZ LRI W, [BF 15 ]

(1) By = 2% - 322 +-2 DEERE TR, MEZ KDL\, £/, I 7OWHENERI N, [8 &

(2) Hiffy=2°-322 +2 L ERfy =z — 1 TEETNEHEOERE S 2RdL I\, [7 =]
M4 $EED ={(z,y) |[4S2?+y> S0} LT BLE, ROBMVIZEZRIW, [5F 15 &)
(1) 4 D 2 HRLAEI W, 3 5]
(2) z=rcosf, y=rsinf £L§BHLE, Yav7yyr ;T zj DER KD X, [4 5]

(3) 2 EREAH / / Eij—dey Dlfi% kbR E N, 18 5]
D



No.2
T 4FE Y TRRFEMIRERRAZEELRFZIRE °

[# %]
MBS MOMWIZEZ I, [5f 20 &]

(1) #armd ¥y - o o—mmeRon L, [10 4]

0 (—wgmg—f

s
2 §Sx<”)
1 (—ﬂ<x<7r>
2 2

(2) FH 2r DRMBEH f(c) = LoNT, ROMN A

HEW,
(a) flz) D7 — U THEKDLI W\, [7 K]
0 1\n+l
() f(z) 07—y =ERmLT, g Y SV omawpas, 3 5]
n==1
RIFE6 ROMWIZEZRI WV, [EF 20 /]
5248 248

— — L A Efﬁﬁh .._1 3] 71_= . :i\ , \\'EES'?’W"’
(1) BE#L F(s) 2P DT T AWERL D) EROLIW, HEL, BERS

TCHZt, B F) LTD5T5 AL F(s) = L[f(¢)] OEHBERALTEV,  [74]

) n e sinwt | coswt
nl 1 w s
F(s
(s) sl | s—a | 24 w? | 2+ w?

(2) N MIVEBRR FE) =logti+ 2t + 12k (1 <t <2) TRINZWHEORES s 2RDAE X\,
=R, 6],k RENTN o, y 8, s EEAORARS PLET B, [7 5]

(3) AHh T =31 p(z,y,2) =e* Ysin?z DAE Vo 575272 Vip 2RI\, 6 55|



